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1
Introduction

This contribution describes several basic scenarios of IMS-based services when IMS network-independent PUIs are used. The format of the IMS PUIs given below are just examples to illustrate a network-independent IMS PUI and an operator-specific IMS PUI. No attempt is made by the author to define/limit IMS PUI formats.
2
Scenario#1: Call between users provisioned by same operator
In this scenario, user Red@abc.com calls user Blue@abc.com. Both Red and Blue have been provisioned by the same operator, Operator A. This is shown in the following diagram.
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The procedure within Operator A’s network upon receiving the request from Red@abc.com to contact Blue@abc.com is as follows:

1) Is Blue@abc.com on-net? Yes

2) Call is routed within Operator A

In this scenario, Operator A does not have to query a domain database outside the network, but Operator A is not prohibited from doing so.
3
Scenario#2: Call between users provisioned by different operators

In this scenario, again Red@abc.com calls Blue@abc.com. However, this time Red@abc.com is provisioned by Operator A while Blue@abc.com is provisioned by Operator B.
In general, there are 3 basic scenarios:

1) Operator A is capable of routing the call directly to Operator B

2) Operator A routes the call to an intermediate network where:

a. the intermediate network is capable of routing the call to Operator B
b. the intermediate network routes the call to another intermediate network that is capable of routing the call to Operator B

3.1 Direct Interconnect
In this particular scenario, Operator A is capable of performing the routing.
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The procedure within Operator A’s network upon receiving the request from Red@abc.com to contact Blue@abc.com is as follows: 

1) Is Blue@abc.com on-net? No
2) Locate domain database for abc.com

3) Query domain database for Blue@abc.com 
4) Resolve destination for Blue@operatorB.com
5) Route call on to Operator B 
3.2 Indirect Interconnect
In this case, Operator A and Operator B are interconnected by one or more intermediate networks. Again the case where user Red@abc.com calls user Blue@abc.com is considered.
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The procedure within Operator A’s network upon receiving the request from Red@abc.com to contact Blue@abc.com is as follows: 

1) Is Blue@abc.com on-net? No

2) Route call on to Intermediate Network 1 (possibly after a domain database query, which may have succeeded or failed)
Intermediate Network 1 will then either do steps (1a-4a):

1a) Locate domain database for abc.com

2a) Query domain database for Blue@abc.com 
3a) Resolve destination for Blue@operatorB.com 
4a) Route call on to Operator B (e.g. via one or more IP-layer and/or SIP-layer intermediate networks)
OR:
1b) Route call on to Intermediate Network 2 (who will perform steps 1a-4a above)
Theoretically there may be more than two intermediate networks, in which case Intermediate Network N will forward on to Intermediate Network N+1 who will perform either the steps 1a-4a above or forward on to Intermediate Network N+2 (and so on), However, some implementations (such as the IPX) may mandate a maximum of intermediate networks (for the IPX, this maximum is two).






